Section 5.2 (page 340)
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The graph has a hole at x = 2.
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81. Trapezoidal Rule: 20.2 83. Trapezoidal Rule: 5.3368
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85. Power Rule  87. Log Rule 89. x =2

93. —In|cos x| + C = In|1/cos x| + C = In|sec x

sec2x — tan® x

sec x — tan x
= —In|sec x — tan x| +

97.1 99. 1/(e — 1) = 0.582

101. P(r) = 1000(12 In|1 + 0.25¢] + 1); P(3) = 771

103. $168.27  105. False. 5(Inx) = Inx'/2  107.

109. (a) 10 (b) Answers w

\ / Example:
10 y 2 — e*ln X

95. In|secx + tanx| + C = In

91. Proof
| +cC

+ iC

c

5
True

ill vary.

+Ind4 — 4/.X

(c) Answers will vary.
111. Proof



